Lecture 7
In this lecture, we will talk about: 108 Cnaaldl (5% g ) 128
Morphological rules o pall 2ol B
1. Compounding S il —agll aliay Las

- It is the combination of two or more free morphemes.
() 5 Oatl) o~ 50 e ST AT 8
Examples:
Girlfriend, chalk dust, undergrowth, blackbird, offload, seasick.
- Note that English compounds may be written separately
i JSI 4 538 (585 38 4y HulaiW) Aall) 8 LS el o a3l
Types of compounding

Types of compounding:

(A) Endocentric Compounds: endocentric & i il Gl

- The compound is an instance of the entity, activity or property denoted by the last constituent

(component/part).
(s 0nf paic) S pe 6 3 Al dlaud s GlSliadl o) bl e Jay (25 QLS o z35a3 58 Sl
Houseboat is a type of ----------- > boat
Boathouse is a type of ----------- > house
A person who is seasick  is ----------- > sick

- Thus, the right-hand constituent (last constituent) in endocentric compounds is the head.
(V) gl M 58 endocentric compounds i sxil (& (S all Ga s a A1) Gaill s all 0S5 Glé Ul

- Thatis, the element that determines the semantic and grammatical characteristics of the whole

compound.
S e IS P il paibaddl g AVall saay puaial) O ¢ e
Examples:
Houseboat is a type of ----------- > boat (head) il
Boathouse is a type of ----------- > house (head) SUBY
A person who is seasick  is ----------- > sick (head) il
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More examples:

coffee table, telephone table, dinner table, chess table, word stress, strawberry jam, silkworm, diesel motor,

bookshelf, etc.

[V N] - > N:
crybaby, filing cabinet, reading class, writing table, drinking water, etc.
[A N] ----------- >N

blackbird, redbrick, wetsuit, greenhouse

[Preposition N] ----------- > N:

outhouse, outgrowth, undergrowth, offprint

bloodthirsty, pain-free, theory-neutral, colorblind, class-specific, sky-blue

- Note that: endocentric compounds always take the same inflection as the right-hand element (the
head):

() ¥l il W Jliiels olas) i 230 Wails endocentric compounds <l i ol Ly

- For example:
[ANJ ---mmmem >N:  e.g. greenhouse
[[green]A [house]N] -------> N

- Greenhouse is a type of house.

- The compound is a houn because house is a houn and its plural is greenhouses because houses is the

plural of house.

house.—! > 2 housesoY is greenhouses s ageall 5 aul 8 house ¥ aul 5o S il

(B) Exocentric Compounds: exocentric compounds &l i suS) LS 3

- Here, the compound does not refer to an entity denoted by either constituent (component).

(ainll) ¥ peainll Wanl g Jars QLS ) iy ¥ S all olia

-  Examples

a ‘paleface’is not a type of face, but a person who has a (pale face).

(sirall (B ABle a0 Y ) g face g5 e g Al J eds Y paleface «Sual o) e g JUA 138 8 L

Syntax and Morphology

Page 2



More examples of Exocentric compounds :

[N NJ] ----------- >N
Paleface, redskin, redneck,
highbrow (serious), bigfoot
[V N] ----moee >N
pickpocket, spoilsport, killjoy, answerphone (Australian term for ‘answering machine’)
[V Particle] ----------- > N:
handout, putdown, sit-in, walkout, breakdown, fallout
[P_N] ----------- >N

afterbirth, afternoon, underground

- Note that: exocentric compounds do not necessarily have a constituent with the same syntactic
category as that of the whole compound.

- Thus, ‘sit-in’is a noun, but does not contain a noun.
SISl 8 A il A5l e oS () B 5 el Gl @xocentric compounds LS e ksl
(u.u\ L;‘C- Lﬁ}@ Y ﬁg} (';.ul\ EY) ‘sit-in’ cgtm_}}

- (C) Copulative Compounds: Copulative Compounds—il sulS Sl 5

- - Here, both constituents refer to the entity denoted by the whole compound.

Sl Al Al 53 LI I i (<l sSall) jualial) S clia

- Examples:

An owner-builder ----------- > is both: ‘an owner’ of a house and ‘its builder’.

More examples:

producer-director, singer-songwriter

owner-builder, maidservant

[AA] - > A: (rare):

bittersweet, deaf-mute
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(2) Affixation: done before (see relevant lecture).

(3) Base Modification: Joanil) 3c 18

- Here, we change the phonology of the base segmentally and suprasegmentally:
segmentally and suprasegmentally e &l (e Gl pa¥) ale jpis Lild (La
(A) Segmentally: i.e. changing a sound
Mouth /maue/  noun
Mouth  /maud/ verb
Change: voiceless fricative to voiced fricative.
- Sometimes, the modification takes place along with affixation (e.g. adding the plural morpheme ) like in:
wife — wives.
Gl Jidl A LSS aeall o) 50 ddlal Jis (affixation) byl ae sy Jaaail) (lal¥) Gany
- Modification can also take place in relation to a vowel sound:
Alall Cag ya ARl me Caaay o)) Sy Jpaall
Mouse -- mice
foot -- feet

(B) Suprasegmentally

- This happens in English through ‘stress.’
(< sall 5 5) Jaacall DA (g 2 3l 2alll 3 Caasy 12
EX. ‘Contact (noun) anl 4 IV 6 3all b daxaal)
Con'tact (verb) Jad 45Y D ¢ el 6 dasial)

(4) No Change of Form:

- Some words that have inflectional or derivational relationships, keep the same form.
IS G e Ladla LS A8LERE) ) Ayl el 38D L) LS iany

A- Zero Inflection: el s Gaas Y

Fish (sing.) fish (plural)

B- Zero Derivation (Conversion): GHELE) i Gaaad Y

Fish  (noun) to fish (verb)

Clean (Ad].) toclean  (verb)
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(5) Base Shortening:

A- Backformation

(Adi.)  hard
il - yuaatl) ¢l
..S e BJL&J

(Adv.)

- Is a word-formation process in which a word of one type (usually a noun) is reduced to form another
word of a different type (usually a verb).

_(MQ)SSLQEAL::)JN'“ &}swhlsuj\d&iﬂ\ il (W\Q)ﬁuﬁab)h\}&)ﬁwwgb&“ HAle o

Edit (V) from
Televise from
Donate from
Opt from
Enthuse from
B- Clipping Lalaidl 5 jalaidy)

editor (N).
television
donation
option

enthusiasm

- Here, we shorten a word without changing its meaning or its part of speech.

- This occurs, for example, when a word of more than one syllable (e.g. telephone) is reduced to a shorter form
(phone), often in casual speech.

Gm)ad‘ sl & Ll phone ) alids telephone Jia tL'“ e ) e 0 S A;d\ LK jlaial o Ladie AUl Jas e Chuasy 12a

Examples:

Polio from Poliomyelitis

Lab. from Laboratory

Cab. Cabriolet

Ad. Advertisement

Fan. Fanatic

Sitcom. Situation Comedy

Exam. Examination

Prof. Professor
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- Names as well are sometimes clipped by English speakers as in:

A eV ARG fanid) 8 e QLAY Gany b (Oai) jeaiad X slanY)

Sam. from Samuel
Tom. Thomas
Rick. Richard
(6) Alphabet Based Formations: O el g dpaaay)
A- Blending z e

- Here, we merge two words by taking only the beginning of one word and joining it to the end of the other
word.

GAY) S e ) Lty saal s RS Ay 38T JA (e (pialS et opai Lin

Examples:
Stagflation = stagnation + inflation
Slanguage = slang + language
Bit = binary+ digit
Brunch = breakfast + lunch
Motel = motor + hotel
Smog = smoke + fog

- To refer to the mixing of languages: Glalll & Lkl ) juds

Spanglish = Spanish + English
Franglais = French + English

B- Acronyms G paiaall

- They are words that are coined from the initial letters of words in a name, title or phrase.
- Typically, acronyms are pronounced as single words
Bokal) o ol siall 5 a8 LS e V) Cag el (e glal Gl Gl 8
Baa) 5 4alS S LSl (e 5V Cajal) Bl aile
Example:

AIDS = acquired immunity deficiency syndrome.
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CD = compact disk

PIN = personal identification number

VCR = Vvideo cassette recorder

Laser = light amplification of stimulated emission  of radiation
Radar = radio detecting and ranging

ATM = automatic teller machine
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Lecture 8

In this class, the following point will be covered:

What is syntax? filaall € 5 osa L
Predicate

FINITENESS vs. NON-FINITENESS

What is syntax? filaall € 5 osa L

- As mentioned earlier in this course, linguistics has different branches, including, phonetics and
phonology, semantics, pragmatics, sociolinguistics, syntax, morphology, etc.

- Inthe last classes, we studied Morphology.
- In this class and the next ones, we will be concerned with the study of syntax.

S i peall 5 sl 5 deLain ¥l il gallly Aglee |yl AVall dle g ol sl le 5 il guall Glld 5 Ley iline g 5 L il galll o Wil S3 LS
1]
LA

Morphology —s rxall ale L )3 o d¥I ugpall A
syntax dleall el Al o aleh Cogu ¢ agall oda (3
Syntax:
- Syntax (originally Greek) = ‘putting together’/ ‘arrangement’.

- Syntax is a branch of linguistics that studies how the words of a language can be combined to make
larger units, such as phrases, clauses, and sentences.

- Thus, when we concentrate on the structure & ordering of components within a sentence = studying the
syntax of a language

Syntax JSal) g W el Lgan pe <ol y g Gy Jua¥) A3l & Syntaxd)
daadl s aSall s Gl el Jie HS1 Clan g (8 pedail alll (8 CLalSl) () paadl 48 (a0 A iy alll 58 (e g 58 58 Syntax Adead) ol
Aall) 8 Alead) ol Al = 138 Capayilead) Jaks b Sall i s Al e 5 5l die Uil
- Now, let us consider the following sentences: AUl Alaadl Al cpad Ues (oY)
This egg loves elephants.
The sandwich ate the boy.

- These sentences are all instances of correct syntactic structure. But they are nonsensical
(unacceptable in meaning).

(il Al pia ) ina sl Led o 805 es sl € ) Anmaa el oa
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- Syntax is primarily concerned with whether a sentence is "properly put together" rather than whether it
is meaningful, or silly or bizarre.

Au e gl Addn o ae 13 i€ 1Y Le Hlaill (kg aia S0 Cmes Alaad) ClS 1Y) L JgY) Al A Sl syntax dlead) S i
What sentences actually mean is the primary concern of
Js¥1Hladl 8 semantics. AYall 4 dgi e sa a8l gl (A Jaall i 13l

- More examples of non-sense sentences with clear syntax:

- Colorless green ideas sleep at night.
- Averb drank the milk.
- | gave the question an angry egg.

- All these sentences are said to be syntactically acceptable, but semantically unacceptable.

Ll Al e Lol L pat Al pie Lgil Lgle i () LSy Al a2

Predicate Jeldl adde aitiy oA Jadll ga 5 yd g Jeld e dlaall (g gind Lo sale 5 Jeldl) adad Lo e jody (3l) a5 )

- As mentioned above, in syntax we concentrate on the structure & ordering of components within a
sentence.

- Sentences are characterized by words that share a structure and form a single expression.

- Linguists often divide a sentence/clause into two main parts: the subject and the predicate.

- The predicate: expresses an event in the clause and typically centers on a verb, but it includes as well
any phrases modifying the verb (e.g. an object or any phrase selected by the verb).

5% clause s» Ahmed loves ¢ Js& s Ahmed loves Pizza Jis 4ilzé s Jeldl s8 — Clause
Alaal) Jaly Gl Sl i iy JSaa e S 5 syntax dleadl s 5 o) e U S3 LS
Sy iy JSS5 S i el il ) cladSll a5 o8 Jaal)
iy deld G ) (pand el ) dlaad) (5 e L Wle ARl elale
8okall (& Jadll s (6 XS Jady 4y o Jadll e 58 5 Lesale 5 clause 58 b G e un 1(2iall) judl)
- A sentence(s) is a combination of a:

Noun Phrase (NP) and a Verb Phrase (VP).

The NP Subject
The VP Predicate
Example
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- Susan called Paul.
Susan = subject NP
Called Paul = VP: Predicate headed by the predicator call.
- He bought a car.
He = Subject NP
Bought a car = VP: Predicate headed by the predicator Bought

- One parameter for classifying languages is to consider the unmarked (Normal) order of the elements of
a sentence.

- With the guiding factor being the position of the predicate (VP) in the simple declarative
clause/sentence of the language in question.

Gl mosaall Aleall i 5 pealing slaia ¥l ga Aalll Coial Jal o (40 2al
Ainall Aalll e Aleall /Adapud) Anlal) 3 88l 3 Lgaia ge (55 il 4pa 5l ale pe

- Thus, languages are either said to be: Sl 8 Al s i

(@) SOV (i.e. subject + object + verb) ; e.g. Japanese
(b) SVO (i.e. subject + verb + object) ; e.g. English

(c) VSO (i.e. verb + subject + object) ; e.g. Arabic

Examples
English: Mary bought a book. SVO
Arabic: LS 5ol & il VSO

- Notice that a sentence can be a simple sentence; i.e. a sentence that contains just one clause;
therefore, has just one predicate.

L& i Lol oS8 il s one clause b sas) b8 e g gint dlaall of (5 Adapn Aloa (5585 0 (Sar Alaal) o) oY

Example:

All of the following sentences consist of just one clause.

- It does not matter how long a simple sentence is.

- Sentence 'c'is still a simple sentence because it contains just one predicate, therefore one clause.
- A-John |eft.

- B- These boys like football.

- C- The first-year students in our department should read a lot of books at this stage in the year.

Syntax and Morphology Page 10



11
- - Notice also that a sentence can contain more than one clause:
one clause Milbs sty i e V) 6 5iad ¥ Y Ao dlen J1 35 Y clleall age e ddagad) dlaal) Jsb Baal 53,58 e (g 5iad Jaall US
Example:
'| tried to reserve a room, but the hotel was booked'

- The above sentence has two clauses:

- One based around the construction ‘tried to reserve’
- The other around ‘was booked’.
‘was booked'J s> s AY s'tried to reserve’ Sl 1 Jsa saai ¥ dleal)
FINITENESS
- As mentioned above, a sentence typically has at least one clause.

- Traditionally, we say that a clause is made up of a subject (the performer of the verb’s action) and a
predicate (the verb and its objects).

- The simple sentences in ‘A, B and C” above stand alone: they aren’t attached to any other clauses, and
are therefore called INDEPENDENT CLAUSES/SENTENCES.

- In English, and typically in other languages, an independent clause must contain.
. one clausesaal g3 i J8Y1 Je cacah sale dlaall S 55 el o Wil <3 WS
(42 dsnidll 5 J=dll ) predicate sl 5 (J=dl) ) Jaalls 2 i) e 52) subjectdeld (e 0S5 clauses_ &l o) Jii o oo JSi
a FINITE verb e (s 6iad o cany Al 3 58 o gAY Clalll 8 sale 5 Ay 5yl Aalll 4

FINITE verbs: have tense and/or person and number inflections.

- That s, they are marked for ‘tense’ information and agreeing in ‘person’ and ‘number’ with the subject

ania) oIV 1 (&) 5 e ¢ bl canls) 3320 5 (&) pombe — g bema)e s S I o SFINITE verbs s2saaad el i3 Jud¥)

Y GalaiY) ae Jeldll 38 55 el (e e slae A8 jaa Adan) gy o pad JladY) 028 13¢5
-  Example:
He plays the guitar.
- The verb ‘play-s’ is FINITE.

you played the guitar ¢S alall a3l Uy sy s Jadl) @l (5 you play the guitar ) caasidl ) il daasiall U e ol
finite au¥! 132 play d=dll e sllay 1A

NON-FINITE verbs
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- are NOT marked for tense, agreement or any other grammatical categories associated with the FINITE
verbs.

FINITE verbs 52 saaall Juad ddasi yall ay saill cliall (e (of 4881 50 5l a3l (33 5l (se Cayad ¥ JladY 028
- Averb form that does not indicate person or number )l 5l palaidl s Ll ol Jaxy ¥ dedll S

- NON-FINITE verbs include:

(A) infinitives (the bare verb stem with no inflections such as the verbs coming after:
'to, must, should, and other modals:
(e.g. to play, must play, etc.)
U 8 JadYl Jie 3l 6l oo stem gole dadl ey 1 saad) daua — A

(B) participles: verbs after ‘have, has, had’ (e.g. has played, have played, had played)

‘have, has, had’ >~ J=dl participlesdell sl — B

(C) gerunds: V +ing (e.g. like playing).

ing + Jadl : jaadl sles) — C
Examples:
1- John left.

‘left’is a FINITE verb

Why: it tells us the tense of the sentence aall 8 G oo LAl LY cuyld Jadll 12
2- These boys like football.

‘like’is a FINITE verb

Why: it tells us the tense of the sentence, and agrees in number and person with the subject ‘these
boys’.

‘these boys’ Jelill & aladyl s aaall 38 505 dlead) b el e Ul 43 Loy Ciigls Jadll 138

3- The first-year students in our department should read a lot of books at this stage in the year.

‘should’is a FINITE verb

Why: it tells us the tense of the sentence. dleall & (e 3l (e Ui pa) LY cuiids Jadll 138
4- Her friend speaks many languages.

‘speaks’is a FINITE verb aall 4 el e L pua) Y cunls Jedll 1a

5- you have never understood it
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-The FINITE verb is: ‘have’
- Why: it tells us the tense of the sentence, and agrees in number and person with the subject ‘you’.
‘you’ Jeldll b (alaiV g asell 381 505 Aleall L e 30 (e U pud) 43Y Liay catipld Jedll 128
- The NON-FINITE verb is: ‘understood’ <iiuli sU‘understood’ J=4//
- Why: it is a participle a participle <Y
- Some constructions contain one FINITE verb with a NON-FINITE verb.
NON-FINITE verb 5 one FINITE verb el ) il s
Example:
| tried to reserve a room.
-The FINITE verb is: ‘tried’
- Why: it tells us the tense of the sentence
- The NON-FINITE verb is: ‘reserve’
- Why: it is an infinitive ( a verb used after ‘t0’) infinitive T 3 S J=2dll ¥
- These are counted as part of the same clause.
- A FINITE verb can be either a MAIN verb or an AUXILIARY verb:
A- John left.
B- These boys like football.

C- The first-year students in our department should read a lot of books at this stage in the year.

delue Jad gl ooty J28 < o) WA FINITE verb  .clause 88l s (e ¢ 28 audiag ¢ jall 138

- In A and B, the FINITE verbs are MAIN verbs (left and like), but in C the FINITE verb is an AUXILIARY
(should).

2elus Jad 8 FINITE verbd) C Jid) & ¢S ¢ (left and like) 4wy Jl=dl s FINITE verbs 3 A and B Jéd)

- Notice that an auxiliary always co-occurs with a main verb as in C: auxiliary 'should' co-occurs with the
main verb read’. (o) J=d o 5% il aeluall Jadll o) asY

- Consider also the following examples:
1- These boys like football
2- These boys don't like football.

- The FINITE verb in 1 is the main verb 'like’
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- Butin 2 it is the Aux. (don't), which co-occurs with the main verb 'like'.

- As the examples above illustrate, in English only one verb in any clause can be FINITE. When we have a
sequence of verbs in English, the FINITE verb always occurs first in the sequence:

@ i il o Sy Lavie | FINITEGSS: o (Se clause b8 (sl 8 1 asl s Jad il 4 5laiV1 50 3 calad) Jhal b i g 58 LS
FINITE verb J ss 5% d=é Js) (S i il ) (8 5% Wil FINITE verb dad) 4 5ulai¥) aall) 8 Juady)

Example:

The students may have been studying late.

- Even where there are three auxiliary verbs (may have been), the first, and only the first, is FINITE.

FINITE s Jg¥) ¢l g Jg¥1 Jadl) 198 saaelioe Jladl 4536 e (5 sind dleall culS 51 i

Practice: FINITENESS

Identify the FINITE /NON-FINITE verbs in the following:

- We shall see him tomorrow FINITE /NON-FINITE tense — infinite
- John watched the movie. FINITE tense

- John wanted to watch the movie. FINITE /NON-FINITE tense — infinite

- John must have watched the movie. . FINITE /NON-FINITE

- She told him that they were studying at home. FINITE /NON-FINITE tense-ing

- Samuel likes tea, but Amy doesn’t. FINITE /NON-FINITE
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